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Algebra 1 ECA Remediation Name___________________________________
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Homework 17.3

Solve each system by substitution.

1)  

 

y

 

x





 

x

 

y
2)  

 

y





 

x





 

x

 

y

3)  





 

x

 

y

 

y

 

x
4)  





 

x

 

y

 

y





 

x

5)  





 

x

 

y

 

y





 

x
6)  





 

x

 

y

 

y

 

x

Write the slope-intercept form of the equation of the line through the given points.

7)  through: (, ) and (, ) 8)  through: (, ) and (, )



©8 S2k0s1I4B jKFuhtFaK XSPogfrt4wvaWrGew hLmL7CQ.w 6 aArlwl6 PrEimgahjtYsH Grbe7sbemrrvieLdr.s L CM3aKdCe7 1wRiWt9hZ XIjnJfMiOnvidtUek 8AYlxgKeJb3rTaP Z1r.v Worksheet by Kuta Software LLC

Answers to Homework 17.3

1)  (, ) 2)  (, ) 3)  (, ) 4)  (, )
5)  (, ) 6)  (, )

7)  

 

y

  




 

x 8)  

 

y

  




 

x


